L% Oriental Sporis Daily

20235£2H22H EH=

ﬁx% WH | smme =50

HEH = | A 13

2 | | 6

W 286 [16/6]5|1 @) 2|13 @ o] |@ 7 0O ® . 0 ®

092 11910 2@ 324 [ 18 | | O# 0= 5 Ol = 11 1] |#
TN 458 [17]4] 1 (31 [+ OO [ 5 a7 |7 =0 | & 1 1] &

070 [7[710) 42511 &9 L@ | 5] 101 @ 5| 1] =
NN 900 [9]9|()5[3]6]2]2 = O 16 B0 4 HE L L1 5@o &
YN 136 [10] 5] 1 3 B % 8 GlE =6 BO=1 [ |5 0 8
TEN 420 [6]4 @) (<8 8 4 [0 = 1 8 O 20 [o [
T 756 18] 2] | 116 B 19) & | @ ) 3 2| |®
Tl 315 [9]4]2 3 |5 5 | 02 5 & 7 i 1o &
Ll 972 [18]7] 3 1[3]1 & E =0 & 10 % 24 8 2| |8
TN 221 [5[1[4 @) 2]4]2 & | 0= 10 8 L] 8| |& 11 2|H
DUN 888 [24/0]5]1]1[3]5]3 [ 0 | & 1o [T =0 [ |® 4 1 [
OV 083 [11/8 @) 2|2 @) 5[4 % & | [®[e # |2 1] |&
PRl 780 [15(8 @) 3 [3]1[7[5 B 6 | B0 4 @ | |2 2|5
RN 252 [12]6] 1[4 @) 2[8]6 8 4 O 8 | © 8 3] 2| |@
el 022 [4]210) 5 0)3[9]7 &1 O [ 2 W 8 ] 1 [
TER 606 126 |0)[6 [ 1]4]10[8 [od % 25710 & e 2| |®
Nt 714 (126 1 ) 2[5 @ 0|1 L@ | & %\ 8 & 2 o] B 2| |®
VEN 172 |10/ 6|2 61102 & ERp=  BEE 2 28 BQC 1] 0 [
OEN 237 [125]3] 1 2113 1@ 5[0 | 2 8 3= 18)%| |6 =@ | |5 13 2| |’
WCN 790 [16{9 @2 [ 1] 1[3]12/4 @6 2y BEE T Te0E 10=— E LIE =6 0 ®
Il 488 [20(4]1 (3 (22 @)i3]5]1 10 4 12 @] [4 ] @ |11 —0 ﬁgg: 0 [
3W 911 [11)8[2 @) 3[3[1]146]2]1 4 T=0= O] & 015 & 2 1] &
SN 114 [6]3 (31604 [+ @5 7[3]2[1] @ & 50 % B @ O] [15o 8
il 342 [9]2]4]1] 16/8[4[3[2]9 5 1 & @4 8 1 Do &
YW 060 (6] 60 2[1]1]1[17@ 54310 |1 8 [18 ] 0 Al 6 8 121 0 &

357 15(4]1[3]2©21Q 1 @5 |4 10 & 1 & ics. - HEE 23 2|&
W 665 17/ 1]2|4[3]1 1]e]5 1] 0 ® 3] i 6| |& [1] 1] |&
ol 348 155 (3|5 [« 1@ 1120 6] [5 & 13 ® ) 8 8|7 s 2|&
il 127 (106 [+ Q) 1 [1[2[21@ 1 [7] @] [s & 2l 9| [m 31| @10 0 8
2PN 499 [22]5 (5112 /@ 33|12 |0 4 10 & 4 T 0= 7 0= 5 2| |®
%N 754 [16/3[6[2[2[3 4@ 31 9% 5 i % @ —~0 0 ®
%3W 975 21/4]73[3[4|1 1605 1@« 6 L 0= QL [2]# |7 5 | 0= 8| [1 [
%Pl 090 (919 4[4[5[2]1]6]1 |51 | |6 @ 1] 0= O=] 3l |® | [ == 9 [ &
XN 679 [22(3]1]5]5(6]|3[2 (@ 6 0 T 10 2| |ms L@ |5 12 0= 57ﬁ/’ 2 8
<¥8 901 (109 (O 6 |74 [3][1]1]7 10 1 )& 10— |7 ) = HEIN o <Nl 2o ®
x5l 649 [19(5 117 ] /@ 402|210 ; @ a5 8 B 0 ki BES. L %
%78 656 [17/1]2]2]8]9]1 3]9]1 6 18 5. WE & 2 | € [ 9 1] |&
%78 771 [15/ 6] 3 9102?@ 10[2]5 /% & Q55 | 0 EIBE /@/0/ 2|&
%58 091 [10] 9 1o[11[3]2]2]1 11O 1] ® 12) 5 | O 7 7 0= 8 0 ®
<IN 763 [16[4] 111116 4] 3 O 12| | 12 T =0 & 21 6 i 9 g |1 =0 0 8
TN 334 [10[1]2 2 12%4 1[1]13]2 4] & |6 & 13 BO= | s 0 1
Tl 608 [14/8 Q) 3|13 1] 15102 @3 23] [ I B0 [1] B |3 | =0 8 B+ UE 1 %
YOl 231 [6]2] 2|6]1]3]1]4 @ 5 | O & 0 0 [

EEHET) AR AT A R IRAR
A, RGP RE T @R —APINAR
ok  AER RAE

KAV BLETARINAE 2 AT T E— 0

W IF % 5 A Rk 5aG ARS8 52 A0 E— 2
T35 P ARAR G HF AR 092 e
— BT £ 5 LA B BT, H AR F TR
SEINEL Pt T35 AL 032 8945 AL A 0

/

HEFI 3 HEFI5

B FUSTAHE

v

HEFI3 042HASHE 2 3 1

BRI

L5 B B0
B, R 5 AL 01234 £
ANFCF P BT 0123 R AME, K
R 55 7 56789 A F P, F
6789 A AME . EHMTTF LY, R
AW A A 14:16, ik =7 FF
B, R AL E R K IE 57
68 #y L IF,

BEES:
043-044 A=K FEEE 2

0% 35 FERN0I S ST Hw
B, %5 6B E3&—H, B E R

5 B0, T RIES e
R, A2 K 1Ay 231 T A AL
333.777.999.222.555.666.

138 R0 B A =
P A — 5 L
FETEE, T RESET AR, A
2K 1A 132 W AHA 518,
592.926.817.703.182,

DI EH A0 ST =
B, PSS B2 S8 A —
B, TRERF 20 EAR, A2 K1
A 12 A A 866, 123,

534.657.435.978,

R ORERIL ik

2.3, 488 A 1(5 0.2484K) 4( 5 3484%) |
INFL Hg 5.6.7.8.9; Frdm L — 29 I & 55
507, AR I £ 5 A5 203, M 0 A4 E 2.3
HINAL | A HRE A R ILARED,

3.

AR — A TR AAH K1 =

A (KA 003) ;2 —IRFHE (KAB012) 5

FIN—A4E (AL 021) 54 ZINAL (ARG

030) ;5. —4F 4% (AR A 102) ;6. — AR —

/

gl

AR E 46, KA T:3,
012 Z 35 74 7:2:1, )5 7 % iE 4 3
0B A F 5.7 A £, B E 4
aErih, AMAEE 5 4.5.7,

£

M+ A H AR A 6:4, K E 55,
012 = %5 75 6:3:1, J& 1 £ 118 3%
8 kAF, AR F 2.8 H E, A #3
weEit, AMAE 5 2.3.8,
B

P A HARA 73, KA E 46,
012 =35 25 4:5:1, )& H % 7 4 %
Wk AR F 5 7T A E, ARG

@EJ%Q AMAEE55.6.7,

043-044 0J§E7 : 786

18

w4

H+ A IBE1:9, K3 6:4,
012 =% % 35 6:0:4, J& #1572 3
R, AR F 1T A £, B4 4
AL, AEE T 1.4.7,

- A5Y
M+ A8 A 4.6, KN E 46,
012 =35 74 6:2:2, J& i % 1218 3
MR, AR F 48 HE, AT
AL, AMAE T 4.7.8,
(/hm)

HESI5 042 HiFF S

231814

\

IN— 45 (K AH 111) 57, — AR 53 I8 (KA
120) ;8. AR — 4% (475 201) ;9 79 4F —
IN(RAL 210) 510, ZARAL(300) o

ARIME B LA XA 2809 5

R RANE G Hode, — AR —IR—
et X @409 5 AT HE $ 34 200 i
LT S A B R A Z AR 0 A5
HETHRY EHEAA,

019EAFEEM1 74767 + 2

DI IV B SHHHY
TS| ISR E
AEHE ST 2RI H

MO19EAF R ERLEH , 5]
XZFBEL 4:2, K/ b 4:2, RALE
4:2,012 8% Lk 1:5:0, 7118 32, &
X I g, B2 8%,

F 23020 HHEFE DT A




